English language

Std. Il

Chapter IX

Q2 Make 14 sentences.

1.Prem writes as quickly as Maya.

2.Prem writes as clearly as Maya.

3 Prem writes as neatly as Maya.

4.Prem does not write as carefully as Maya

5 Prem writes as carelessly as Maya.

6.Prem writes as fast as Maya.

7. Prem does not write as badly as Maya.

8. The boys write as quickly as Maya.

9. The boys write as clearly as Maya.

10.The boys do not write as neatly as Maya.

11. The boys write as carefully as Maya.

12. The boys do not write as carelessly as Maya.



13. The boys write as fast as Maya.

14. The boys do not write as badly as Maya.

Q3. Make sentences like the ones below.

Tim's height is 1.30m.Raj's height is 1.30 m. Ravi 's height is 1.35 m. (tall)

Tim is as tall as Ra;j.

Tim is not as tall as Ravi.

a. Sita's height is 1.25 m. Tom's height is 1.25 m.Radha's height is 1.28 m.( tall)

Sita's is as tall as Tom.

Sita is not as tall as Radha.

b.Tim's weight is 38 kg. Tom' weight is 38 kg.Ravi's weight is 42 kg. (heavy)

Tim is as heavy as Tom.

Tim is not as heavy as Ravi.

c.First street is 7 m wide.Second street is 7m wide. Third street is 10 m wide.(wide)

The first street is as wide as the second street.

The first Street is not as wide as the third street.

d.An orange costs 50 paise.An apple costs 50 paise. A pear costs one rupee. (expensive)

An orange is as expensive as an apple.



An orange is not as expensive as a pear.

e.Sita's book is 3 cm thick.Tom's book is 3 cm thick.Radha's book is 4 cm thick. (thick)

Sita's book is as thick as Tom's.

Sita's book is not as thick as Radha's

Q4.Make sentences like the ones below.

Prem has two pencils.Mohan has two pencils.Raj has four pencils.

Prem has as many pencils as Mohan.

Prem does not have as many pencils as Raj.

Maya has one bottle of ink.Susan has one bottle of ink.Radha has two bottles of ink.

Maya has as much ink as Susan.

Maya does not have as much ink asRadha.

A.Prem has two rulers.Mohan has two rulers.Raj has four rulers.

Prem has as many rulers as Mohan.

Prem does not have as many rulers as Raj.

b.Maya has two cups of tea. Susan has two.Radha has three.

Maya has as much tea as Susan.

Maya does not have as much tea as Radha.

c.April has thirty days.June has thirty days.March has thirty one days.



April has as many days as June.

April does not have as many days as March.

d. Tim has a loaf of bread. Raj has one too.Ravi has three loaves.

Tim has as many loaves as Raj.

Tim does not have as many loaves as Ravi.

*The Hare and the* *Tortoise*

Answer the questions.

a. Which animal runs fast ?

The hare runs fast.

b. Which animal moves slowly?

The tortoise moves slowly.

¢. What does a tortoise carry?

A tortoise carries a shell on its back.

d. Is the shell heavy ?

Yes, the shell is heavy.

e. Where did they race?

They raced towards the tree.



f.What did the tortoise do?

The tortoise moved continuously towards the tree.

g. What did the hare do ?

The hare laid down to have a little rest.

h. Which animal moved slowly?

The tortoise moved slowly.

I. Which animal ran quickly?

The hare ran quickly.

J. Which animal won?

The tortoise won.

*English language Work* *Book*

Make sentences like the first one:

1. The box is heavy .The bag is heavy too.

. The box is as heavy as the bag.



2. Tim is fat.Raj is fat too.

Tim is as fat as Raj.

3. Maya'smarks were good .Prem'smarks were good too.

Maya's marks were as good as Prem's

4. The first sum was easy .The second sum was easy too.

The first sum was as easy as the second sum.

5. The red flower is beautiful .The blue flower is beautiful too.

The red flower is as beautiful as the blue flower.

6. Maya is careful. Anu is careful too.

Maya is as careful as Anu.

7. Mohan writes slowly. Rahman writes slowly too.

Mohan writes as slowly as Rahman.

8.Mohan sang loudly. Anu sang loudly too.

Mohan sang as loudly as Anu.

9. Maya danced beautifully. Radha danced beautifully too.

Maya danced as beautifully as Radha.



10. Molly can run fast. Radha can run fast too.

Molly can run as fast as Radha.

*Make sentence like the* *first one:*

1. The red book is thick. The green book is very thick

The red book is not as thick as the green book.

2. The first sum was hard .The second sum was very hard.

The first sum was not as hard as the second sum.

3. The man is angry .The woman is very angry.

The man is not as angry as the woman.

4. Dick is careful. Molly is very careful.

Dick is not as careful as Molly.

5. The string is strong.The rope is very strong.

The string is not as strong as the rope.

6. The girl is happy .Her brother is very happy.

The girl is not as happy as her brother.



7. Prem ran fast .Mohan ran faster.

Prem did not run as fast as Mohan.

8. A bus moves quickly .A train moves very quickly.

A bus does not move as quickly as a train.

9. Maya Sang loudly. Sabina Sang very loudly.

Maya did not sing as loudly as Sabina.

10. Raj writes neatly .Anu writes very neatly.

Raj does not write as neatly as Anu.

11. Molly speaks clearly. Leela speaks very clearly.

Molly does not speak as clearly as Leela.

12. The boys did well .The girls did very well.

The boys did not do as well as the girls.



